



















Lakeshore®

2695 E. Dominguez St. Carson, CA 90895

Phone: 800-421-5354 Fax: 310-632-8314

Legend:

Lakeshore Exclusive Items
Shown in Design Layout

COMPLETE CLASSROOM FOR EARLY HEAD START INFANTS - AGES 0-18 MONTHS

Recommended furnishings and resources for an infant room. Enrollment of 8. The materials selected for this planner support ITERS and NAEYC standards.

When purchasing this Complete Classroom, complimentary white-glove services are available, including:

- Free shipping
- Unpacking and assembly
- Supervised classroom setup
- Debris removal

White-glove services are valued at 20% of your order, and can be donated in-kind to your program.

To view products, go to LakeshoreLearning.com.

ITEM#	DESCRIPTION	EC PAGE	PRICE	QTY	TOTAL	NOTES			
	BLOCK AREA								
AA392	First Steps® Double-Duty Storage Center	136	\$429.00	1	\$429.00	GREENGUARD® Certified			
LC121	Forest Green Rectangular Carpet - 6' x 9'	129	\$229.00	1	\$229.00				
GB619	Giant Soft Building Blocks	41	\$129.00	1	\$129.00				
LL304	Dishwasher-Safe Plastic Basket - Small	119	\$9.99	1	\$9.99				
TR220X	Kid-Tough Trucks	11	\$79.99	1	\$79.99				
RR794	Soft & Safe Building Blocks	149	\$49.99	1	\$49.99				
LA848	ABC Blocks	148	\$39.99	1	\$39.99				
RE148	Stack & Nest Sensory Toys	146	\$24.99	1	\$24.99				
GROSS MOTOR PLAY									
GC322	Color Blocks Activity Mat	140	\$129.00	1	\$129.00				
GC323	Super-Safe Color Blocks	140	\$79.99	1	\$79.99				

ITEM#	DESCRIPTION	EC PAGE	PRICE	QTY	TOTAL	NOTES	
LL300	Dishwasher-Safe Plastic Basket - Large	119	\$16.99	1	\$16.99		
DD384	Soft & Washable Sensory Balls	141	\$29.99	1	\$29.99		
GB425	Soft & Washable Pull-Back Vehicles	151	\$24.99	1	\$24.99		
LL759	Hide & Seek Discovery Ball	147	\$24.99	1	\$24.99		
FR263	Feel & Roll Bumpy Balls	146	\$29.99	1	\$29.99		
	DR	AMATIC F	PLAY				
AA158	First Steps® Play-Top Storage Center	137	\$349.00	1	\$349.00	GREENGUARD® Certified	
AA517	Toddler-Tough Table & Chairs Set	143	\$229.00	1	\$229.00		
FF854	Soft & Safe Community Helpers	144	\$34.99	1	\$34.99		
HH578	Soft & Safe Pots & Pans	142	\$29.99	1	\$29.99		
LL253	Lakeshore Cuddly Washable Doll - Hispanic	145	\$19.99	1	\$19.99		
LL251	Lakeshore Cuddly Washable Doll - Black	145	\$19.99	1	\$19.99		
HH994	Hispanic Soft & Safe Family	142	\$29.99	1	\$29.99		
LA786	Mix & Match Farm Animals	144	\$29.99	1	\$29.99		
HH615	What's Inside? Animal Houses	150	\$29.99	1	\$29.99		
	NON-M	OBILE DIS	SCOVERY	•			
AA268	First Steps® Child's View Storage Center	136	\$329.00	1	\$329.00	GREENGUARD® Certified	
FF267	Farm Friends Activity Carpet - 6' x 6'	128	\$169.00	1	\$169.00		
CS922	Look-At-Me Mirror Center	140	\$129.00	1	\$129.00		
LL300	Dishwasher-Safe Plastic Basket - Large	119	\$16.99	1	\$16.99		
HH235	Shake & Play Animal Buddies	146	\$29.99	1	\$29.99		
JJ909	What's Inside? Soft Feely Box	145	\$39.99	1	\$39.99		
LL254	Lakeshore Cuddly Washable Doll - Asian	145	\$19.99	1	\$19.99		
LL252	Lakeshore Cuddly Washable Doll - White	145	\$19.99	1	\$19.99		
RR257	Color Match Learning Garden	150	\$29.99	1	\$29.99		
AA823	See-Inside Sensory Blocks	150	\$29.99	1	\$29.99		
	FINE MOTOR MANIPULATIVES						
AA158	First Steps® Play-Top Storage Center	137	\$349.00	1	\$349.00	GREENGUARD® Certified	

ITEM#	DESCRIPTION	EC PAGE	PRICE	QTY	TOTAL	NOTES
AA586	Classic Birch Easy-Clean Toddler Table - 14"	148	\$129.00	1	\$129.00	GREENGUARD® Certified
AA606	Classic Birch Hardwood Toddler Chair - 6"	148	\$44.50	2	\$89.00	GREENGUARD® Certified
AA388	Color Discovery Boxes	147	\$49.99	1	\$49.99	
BC553	See-Inside Sorting Bucket	146	\$14.99	1	\$14.99	
LA847	Giant Star Builders	148	\$39.99	1	\$39.99	
EE439	Giant Knob First Puzzle Set	151	\$49.99	1	\$49.99	
LL419	Little Hands Hammering Board	147	\$16.99	1	\$16.99	
EE788	Let's Go Fishing! Playset	148	\$29.99	1	\$29.99	
CD349	Giant Chubby Pegboard Set	147	\$22.99	1	\$22.99	
HH157	Who's in the Ocean? Peekaboo Board	139	\$19.99	1	\$19.99	
HH159	Who's in the Barn? Peekaboo Board	139	\$19.99	1	\$19.99	
HH158	Who's in the House? Peekaboo Board	139	\$19.99	1	\$19.99	
TW427	Pop & Play Inchworm	146	\$12.99	1	\$12.99	
		MUSIC				
TB542	Rainshakers - Set of 4	78	\$29.99	1	\$29.99	
KM8102D	Singable Songs for the Very Young CD	80	\$14.99	1	\$14.99	
TB317	Toddler Tambourines	146	\$39.99	1	\$39.99	
EB723D	Children of the World CD	80	\$15.99	1	\$15.99	
EE493	Classroom CD & Single Cassette Player	83	\$189.00	1	\$189.00	
	LIBRARY	& RELAXA	TION AR	EA		
LC112	Forest Green Rectangular Carpet - 4' x 6'	129	\$119.00	1	\$119.00	
CF189	Comfy Pillows - Set of 5	133	\$129.00	1	\$129.00	
GR290	Classroom-Safe Glider Rocker	134	\$449.00	1	\$449.00	
AA692	No-Climb Bookstand	138	\$139.00	1	\$139.00	
LL393	Our Class Soft Photo Book	139	\$24.99	1	\$24.99	
RA628	Favorite Songs & Rhymes Board Book Collection	152	\$54.50	1	\$54.50	
RE484	Colors & Shapes Board Book Library	138	\$30.50	1	\$30.50	
RE481	Me & My Family Board Book Library	138	\$37.50	1	\$37.50	

ITEM#	DESCRIPTION	EC PAGE	PRICE	QTY	TOTAL	NOTES			
RE483	Nursery Rhymes Board Book Library	138	\$25.50	1	\$25.50				
	ART CENTER								
AA156	First Steps® Locking Supply Cabinet	137	\$429.00	1	\$429.00	Art and Music Storage (GREENGUARD® Certified)			
AA342	Washable Fingerpaint - 10-Color Set	58	\$29.50	1	\$29.50				
TA5316	Fingerpaint Paper	64	\$7.99	1	\$7.99				
TA50AC	Construction Paper - 9" x 12" - Assorted Colors	64	\$1.19	5	\$5.95				
TA51AC	Construction Paper - 12" x 18" - Assorted Colors	64	\$2.29	5	\$11.45				
PX2020	Lakeshore Fully Washable Liquid Tempera Paint - 10-Color Set	58	\$29.50	1	\$29.50				
LC1340X	Nylon-Bristle Paintbrushes - 10-Color Set	60	\$8.99	1	\$8.99				
LA820X	Lakeshore No-Spill Paint Cups - 10-Color Set	60	\$10.99	1	\$10.99				
VX735	Best-Buy Jumbo Crayons - 8-Color Box	68	\$59.99	1	\$59.99				
AX2	Lakeshore Dough - Red	66	\$8.99	1	\$8.99				
AX8	Lakeshore Dough - Green	66	\$8.99	1	\$8.99				
AX10	Lakeshore Dough - Turquoise	66	\$8.99	1	\$8.99				
RS4	Best-Buy School Glue - 4 Ounces	72	\$0.99	4	\$3.96				

Please note: Our art materials are intended to be used independently by older children. If using these materials with younger children, then adult supervision is required.

SCIENCE & SENSORY EXPLORATION							
DD657	Super-Safe Color Viewers	148	\$19.99	1	\$19.99		
DD659	Super-Safe Mirrors	148	\$19.99	1	\$19.99		
AA931	Giant Sight & Sound Tubes	146	\$69.99	1	\$69.99		
PERSONAL SPACE/CUBBIES & SLEEPING MATERIALS							
AA629	First Steps® Cubbies and Coats Storage Center	137	\$499.00	1	\$499.00	GREENGUARD® Certified	
CS213	Heavy-Duty Safety Crib	135	\$299.00	3	\$897.00		
CS217	Heavy-Duty Evacuation Crib	135	\$349.00	1	\$349.00		
ZB44	Crib Sheet	134	\$11.99	8	\$95.92		
AA900	Lakeshore Easy-Stack Toddler Cot - Each	136	\$49.99	4	\$199.96		

ITEM#	DESCRIPTION	EC PAGE	PRICE	QTY	TOTAL	NOTES		
AA910	Lakeshore Toddler Cot Sheet - Each	136	\$10.99	8	\$87.92			
	DIAPERING							
AA822	Infant Changer & Storage Center	135	\$649.00	1	\$649.00	GREENGUARD® Certified		
AA829	Storage Center Bins - Set of 12	135	\$129.00	1	\$129.00			
LA646	Changing Station Wall Unit	134	\$199.00	1	\$199.00	GREENGUARD® Certified		
AA830	Changing Paper Roll - 16"	135	\$9.99	4	\$39.96			
LC814	Handy Bags and Dispenser	134	\$59.99	1	\$59.99			
QJ578	Disposable Sanitary Gloves	134	\$3.99	4	\$15.96			
EATING								
AA356	Classic Birch Transition Table	137	\$299.00	1	\$299.00	GREENGUARD® Certified		
AA357	Classic Birch 9" Transition Chair	137	\$94.50	4	\$378.00	GREENGUARD® Certified		
RR840	Easy-Clean Snap-On Tray	137	\$79.50	2	\$159.00			
	TEACHER RESOURCES							
BR302	Backpatter's Seat	136	\$49.99	2	\$99.98			
RR586	Bear Puppet	19	\$9.99	1	\$9.99			
RR585	Dog Puppet	19	\$9.99	1	\$9.99			
PP184	Moods & Emotions Poster Pack	186	\$19.99	1	\$19.99			
HH512	Social-Emotional Skill Building Box	151	\$59.99	1	\$59.99			
LA432	All-Purpose Teacher's Apron	248	\$16.99	2	\$33.98			
	Subtotal							

The materials found in *Teacher Resources* are intended for adult use. These materials are not to be used by children under three years of age. Please use with appropriate supervision.

^{**}Please include appropriate sales tax for your area or provide us with your sales tax exempt number.